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Sl % . ~— . o . Coconuts | Rubber
The table exhibits some of the production combinations on Malaysia’s A 100 0
production possibility frontier. The opportunity cost of producing B 75 30
another unit of natural rubber from A to D on the frontier is __ as more C 50 50
rubber is produced.

G, : D 25 60

A. 3 4¢ increasing

B. /&> decreasing
C. ‘24 7 % constant

D. L% » L 3 4 first decreasing then increasing

2. Bob e 32 o f2 1 iF8i @ & 2Pk 1 Fhok P 95 salary

&-/‘é‘«b‘*%}iﬂ“ "y '_ﬂa%’;}q —‘,,—,, ‘Vé. °
BELRESRS - FoMARI AP TSR gL Company A | RM100

Bob got job offers from four different companies with the monthly salary of Company B | RM90

each company shown in the table. If he can only accept one of them, the Company C | RM70

opportunity cost of taking the offer from Company s

Company D | RM40

A. A, RM200
B. B, RMI10
C. B, RM90
D. C,RM100
3. ek MR FRTE VAR KRB DEER
If the price of dragon fruit goes down, the supply of dragon fruit ice cream will
A. # + T # o shift to its right.
B. » Z T # o shift to its left.
C. it Fh®X¥MA L %H - move up along the supply curve.
D. 4% 7 ¥ - remain unchanged.

4. Bt o o d AR F D AT B Ll BEAAFRS 0 T
Red bell peppers are more expensive and less sold in markets compared to green ones because
A =¢ BT 7§ % o Redbell peppers are more nutritious.
B. iz¢ {4+ L F & - Redbell peppers are less nutritious.
C. =d ##aend A 2 A& F - Red bell peppers cost more to produce.
D. =¢ a2 A& = X% o Red bell peppers cost less to produce.



2022 F—ERARER LR - EFR

1t NCKU Business Studies Competition 2022 - Economics

B ek THTARELA T > pA BB S A HSEER
If the electric car becomes cheaper, the price of the fossil fuel vehicle will _ while its transaction amount
will
A. T B 4e o godown; go up.
B. #f4c; T ' o goup; godown.
C. Hi4c 5 H 4 - goup; go up.
D. ™ ; 7' o godown; go down.

6. FewrEjh R D ERA ‘% Fo DR T ERESOFZTHELAL 104 F ek BRT - s A
2 8LF AR -PARBLIETILET O FHERT - E o H TS AR
Consider a coffee shop which is a competitive seller with its average cost as RM 10 when currently 50 cups
are served. Suppose its marginal cost of serving the next cup is RM8 while the selling price for each cup
is RM9. When the next cup is served, its average cost will
A. 3 4c - increase.
B. 7 % - remain the same.
C. /B " o decrease.

¥ A i 4v 2% i 5 o either increase or decrease.

7. Fent b LR 2L Fo P F 0 ERSOFL T AL 104 F o dok BT - e A
84 F A E-PHERIEHIL T FEERT - HE
Consider a coffee shop which is a competitive seller with its average cost as RM 10 when currently 50 cups

are served. Suppose its marginal cost of serving the next cup is RM8 while the selling price for each cup
is RM9. When the next cup is served,

A —?i [ g B 4e > F —f':i B 5 & - its profit will increase and is positive.

I € B4 > BB L | o its profit will increase but is negative.
ﬂ Bt BHJIE LT o its profit will decrease but is positive.
BALEE 0 2 BB L f - its profit will decrease and is negative.

8. F R MF A B FH R LR
The law of demand says that as the market price of banana goes up,
A, # Ei 7 £4F € &0 - the spending on banana will decrease.
B. 4 Ef' % £%F ¢ # *c - the spending on banana will increase.

=) 7 B ¢ B ° o the quantity demanded of banana will decrease.
-

o O
‘Y“% "Y“é :

bk bk

Fed § = # o the demand curve of banana will move to its left.

5*3*
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Oranges

9. ERB® T TEE MBIV R FE

The likely reason causing the change in budget line as shown in the graph is s
A PR FlerHedd P &G %EE o an increase in the / \\\\

consumer’s income alone while both prices remain unchanged.
B. WwalfE® i 4em H i %4572 % o an increase in the price of oranges

alone.
C. AR A § F dvfer grT " o ke ¥ % 0 #7 % o decreases in both the prices of oranges

and the consumer’s income but not the price of apples.
D. # % i 4o ¥ —‘F*{ T~ —%’&j = P 3 % - increases in both the price of apples and

the consumer’s income but not the price of oranges.

10. 4r% 7k kot 5o et A 5 2 RMI0 fo RMIL > @ ki g fodi jzeni e s 4 W § 25 fe 2« 4

%?ﬁ%ﬁ?%&ﬁﬁﬁﬁ%’ﬁﬁ%m?uﬁﬁﬁ

If the price of ice cream and cookie are RM 10 and RM 1 respectively while the marginal utility from
additional ice cream and cookie are 25 and 2 separately. While all income is spent, the consumer can
benefit from

A okiEH () #4&5z (1) exchanging ice cream (|) for cookie (1)

B. *4&isz () #kEZH (1) exchanging cookie (|) for ice cream (1).

C. PEH kMot 7 & o increasing consumption for both ice cream and cookie.

D

fe PR 0 KGR Bk e Ad 5T ey 3’3 decreasing consumption for both ice cream and cookie.

11, 971 AR B 2. A AR D g O X W PRFE > F] S U ARG A
People earning a higher income take less public transportation service because it is considered as
A. I ¥ B4 anormal good.
B. % % P4 an inferior good.

O

& F . anecessity.
D. # & % abad.

12. % bR P s o g RT3 Wl § fpF o v
When the monopoly lowers its price while facing an elastic demand, its
A. T » € T ' o revenue will go down.
B. = » ¢+ & - revenue will go up.
C. fl:E ¢ ™ % - profit will go down.
D. fliE ¢ + = - profit will go up.
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13. Jeremy % 43{7 1 1¥ > 7 F RMS5,000° s I ¥ ggEd 1 17> & 4% s < AR L1721 42 4 RM2,000 I
TR STRUT Y ?@vvﬁ*—}% Lyl o 8RR IEAH RMT7,000 00 22 5 0
% RM3,000 =7~ J\ TcH s F % o BK Jeremy FEHE 7 F i E 4r RM20 i 48 & 800 47 rherzt o
Kl R L= i ST
Jeremy works at a bank with a monthly salary of RM5,000. He is considering quitting the job to open a
coffee shop at his father’s property which was originally leased to others with a monthly rent of RM2,000.
To run the coffee shop, every month he must pay RM7,000 for employee’s wages, and RM3,000 for
utilities and other expenses. Suppose Jeremy expects a monthly sale of 800 cups of coffee at the price of
RM20 per cup. Running the coffee shop will reward him

A. RM1,000 sr/g @1 > @ 8 i B el o

economic profit of RM1,000 and he should open the coffee shop.
B. RM1,000 er/g/Adg 4 » (e is 3% B eeri i o

economic loss of RM 1,000 but he should open the coffee shop.
C. RM6,000 c7¢ 341 » (e is iz a7 5o

accounting profit of RM6,000 but he should still work at the bank.
D. RM4,000 3¢ 3+ » @ is 3% B eier i o

accounting profit of RM4,000 and he should open the coffee shop.

143 % 2L £ F2 GRS A THES A eI IRE S A oRlY TR o BREASL Y F
=804 F » PIE T 5w & BV EREE TIE?
A competitive firm’s marginal cost (MC), average total cost o

(ATC), and average variable cost (AVC) are depicted in the
figure. If the price for its product is RM80 per unit, which of the

8 B8 &

AC/AVCMC

following levels of output will the firm’s profit be the highest?
A. B.

OO w

0 50 100 150
D output
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15 afrd B EHT TR AFTIF T REEL L FELPEIZ2RII T EPag 2 F
2 F markTgp > H u%ﬁ;ﬁ&—_ AL mvﬁ FrIEHE o
After several health organizations issue cancer warning on e-cigarettes and smokeless tobacco, if the
market of these products is competitive, the price in the long run will | and the number of sellers in
the market will  compared to the levels before these warnings are issued.
A. T iF 2 % o decrease; remain unchanged.
B. T ; &> o decrease; decrease.
C. a7 % ; 4% 72 ¥ - remain unchanged; remain unchanged.

D. 2472 ¥ | &> - remain unchanged; decrease.

16. e PIMPEenFRT > R 2B H 0 o
In case of externality, the competitive market produces
Al B B b IRET o e Ay sng d R
an efficient output level under both negative and positive externality
B. e IvfT A 2n g MRT > L f e INET 7 S
an efficient output level only under positive but not under negative externality
C. Waf e3P Tady2ed J-RT > (e 4 f e 3RPT 7 45
an efficient output level only under negative but not under positive externality

D. i f &0 choh 3T > it g ¥ F sd A kT

i)

an inefficient output level under both negative and positive externality

175081 FFenfed » Rig kg BRERKLRFRMLOELEEDEASEH R FTHRS S
moipl B REDEE B o
The increase in the minimum hourly wage rate, in the long-run, will cause the prices of the products in
fast-food restaurants that heavily rely on hourly-paid workers to _ , and the number of these restaurants
to  compared to their levels before the change.
A, F2 5 iFE 7 % o increase; remain unchanged.
B. & ;&% o increase; decrease.
C. a2 % ; 4% 72 ¥ - remain unchanged; remain unchanged.
D

. mFEFE 2 %5 R0 o remain unchanged; decrease.



18. %

20 TERAERERFEY A RS o W2 BEAE o BRE AL
HirfaRM3 PRBEREY 5 60H 3 F | PP EFZ % i 2425 RM

2022 F—JERAREFHER - L
1t NCKU Business Studies Competition 2022 - Economics

\

oo & i RAUEER AT *ﬁi’ffr"ﬁﬁ&i H e

The monopoly faces the market demand (D), marginal revenue (MR)
average cost (AC) and marginal cost (MC) as in the figure. The
monopoly’s profit is maximized when charging  per unit.
A. RM10.

i’E TEFS WL HF R (D) F%der (MR) Tim2 & (AC) frig R = & (MC) 4@l 7

p
30

20

15

13

AC

10

B. RMI3.

C. RMIS.

D. RM20

R L LS Er‘ ?HF AR (D) R r (MR)~ F323 4 (AC) frif %+ & (MC) 4§lf
oo S EETH R 2 RAAFA -

The monopoly faces the market demand (D), marginal revenue (MR)
average cost (AC) and marginal cost (MC) as in the figure. The
monopoly causes a deadweight loss of

A. RM25.

B. RM49.

C. RM100

D. RM200

p
30

20

15
13

10

AC

The table summarizes the total output of a firm when hiring different labor hours. Suppose it is a

competitive seller with the price of its products as RM3. Its value of the marginal revenue product of labor

from the 6™ hour of labor input is RM____

Labor hours 1 2 3 4 5 6 7 8
Total Output 12 22 30 36 41 45 49 52
A. 4
B. 12
C. 18
D. 135
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2L TEAREERF AT ARSFE ) FrR UG RAE c BREA SR I
H %45 RM3e 2 R p iR 2 ?*
2R S
The table summarizes the total output of a firm when hiring different labor hours. Suppose it is a

competitive seller with the price of its products as RM3. Suppose the firm hires from a competitive labor

market with the wage rate as RM17 per hour, it will hire _ hours of labors.
Labor hours 1 2 3 4 5 6 7 8
Total Output 12 22 30 36 41 45 49 52

A 4

B. 5

C. 6

D. 7

22. 5% 7 & FIEEEES SR L

The demand for a good will be more elastic if

A. F & &fib o it has fewer substitutes.

B. % RJIEE »fEd~ - itaccounts a larger budget share for the buyers.

C. el kg 2 {4+ o its elasticity is evaluated in a shorter period of time.
D. ﬂ?‘{% ° it is more expensive.

23, T F|VAMEA A B BB TR ER R DL A L0
Which of the following production technologies, is less likely to induce an industry of perfect competition?
A. FH5 3 Economies of scale
B. % =R #-3F ¥ Constant returns to scale
C. 347 ‘57 Diseconomies of scale
D. U A|* == AW 4 U-shaped AC

24 F iR B A B R T MY L A
When you continue to pursue a graduate study after earning your college diploma,
A 4 KB R oF § B4 o
the unemployment rate will increase while the labor force participation rate decreases.
B. 2 £F ¢ am s Flmp o
the unemployment rate remains unchanged and the labor force participation rate decreases.
C. 2% F¢n4em s 22507 %-
the unemployment rate will increase while the labor force participation rate remains unchanged.
D. 2 k5 s S fyaisa & o

both the unemployment rate and the labor force participation rate remain unchanged.
7



2022 F—ERARER LR - EFR

1t NCKU Business Studies Competition 2022 - Economics

>:'
*

NS

25.Jeff £ #£12 200 4 FF T - B G SEFLDEF o S EHE L 300 FLFEGH:
P TR ¢ 45 GDP ¢ 7
Jeff bough a 5-year-old house for RM 2 million last year. When he sold the house for RM 3 million earlier
this year, which of the following is included in GDP?
A. 300 4 F > 5+ 8 % o RM 3 million, the price at which the house was sold.
B. 100 4 % » % 53 «f[i# - RM I million, the profit he earned from selling the house.
C. # 100 F % + FIBHcic sk o the tax imposed on the RM 1 million profit.
D. 4 & 3@ B~1? £ o commission earned by the sales agent.

26. % 2020 & B ko TR RELFTE M T EH £ 5P
When the Bank Negara Malaysia lowered its Statutory Reserve Requirement (SRR) ratio in year 2020,
A. 33K b 40 o more deposit money would be created.
B. sufitpd s “v 4% o the government would have more money to spend.
C. 33 H = 7 % 28 Jc & L # - the households were more able to reach a balanced budget.
D. & #:# s 4 xd - the corporations’ capability of paying back their debts would be improved.

27. § SR BRA B EP B e TRV €
When the economy is considered over-booming, the Bank Negara Malaysia will likely
A RSB TR R E ' 4] 5 o decrease the money supply to decrease interest rate.
B. B"pWEEEHES T
C. H4c B2 1" 4% - increase the money supply to decrease interest rate
B

D. {4 [ 5 B BE B H

o decrease the money supply to increase interest rate.
“ o increase the money supply to increase interest rate.

28. L = A Achip st ERER
The relative appreciation of the ringgit against the U.S. dollar will cause
A & ka ¥ E Rad o B0 o the decrease in Malaysia's exports to the United States.
B. % R85 k& Iy v 3 4r o the increase in U.S. imports from Malaysia.
C. 31 5 ka &Lk £ a4 o the increase in the number of US visitors to Malaysia.

D. & k& & 5% ez d o the improvement of Malaysia's current account.
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29. ¥ - A2 i) § & 800+0.75Yd ~ £ F & 600 ~ Frfrd d1 G 500~ ez 400~ e G 700~ BT S
5005 1 F % 200 0 Rt g gt B (V)R A
If the consumption of an economy is 800+0.75Yd, investment is 600, government expenditure is 500, tax
is 400, wage is 200, export is 700, and import is 500, the equilibrium income (Y) of this economy is

A. 7200

B. 8,000

C. 11,200

D. 12,000

30. B3R B ka & ¥ 2 & coconut £ rubber B fA[ & 0 2019 £ & 4 & 2002 100 BH = A H A
Wa 10854 FE A 2020# 52 4 1502 80 BHE> HERAMNASEE 122104 F - F 2019
LAY RHAA EF2F W GDP & £ F 3
Assume Malaysia produces only coconuts and rubber. Suppose the production levels of two in year 2019
are 200 and 100 units separately with their prices as RM10 and RMS5. The production levels of two in year
2020 are 150 and 80 units separately with their prices as RM12 and RM10. If year 2019 is the base year,
the real GDP growth rate between the two years is .

A. -32%

B. -24%

C. 4%

D. 37%

3l. B3k & kd & © 2 & coconut £ rubber & fE7 & 2019 # £ 4 & 200 22 100 BEH =0 @ B § AL
WA 108 S 4 FE A 2020# 52 4 1502 80 BHE> BHBRAMNANE 122104 F - F 2019
£ 5 A& o RIH 2020 & 2 GDP L jpidpdkcis
Assume Malaysia produces only coconuts and rubber. Suppose the production levels of two in year 2019
are 200 and 100 units separately with their prices as RM 10 and RMS5. The production levels of two in year
2020 are 150 and 80 units separately with their prices as RM12 and RM10. If year 2019 is the base year,
the real GDP deflator of year 2020 is .

A. 68
B. 76
C. 104
D. 137
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32.7 Alin K3 § ik F gl IR 9
Which of the following will not cause demand-pull inflation?
A, B3 E RGO R FT R o overly easy monetary policy.
B. Fefrini & £ 1 o excessive government spending.
C. i eh= A3 4r - increasing production cost.

D. i "] % - inordinately low interest rate.

33 A FBMAEFAFOE T FROQEFCR T @ SO St r2 iAo
The quantitative easing (QE) of the U.S. Federal Reserve will likely cause the price of government

securities to and U.S. Dollarsto

A. T ; 2 o go down; appreciate.
B. T ' ; psiE - go down; depreciate.
c. +2:;4

’

D. + & psi

L

° g0 up; appreciate.

o go up; depreciate.

M. TR ET R f S [RGB 2
Which of the following will likely cause a rightward shift in the demand for money?
A. #2134 o increasing government spending.

B. 7 :f: i¥ ° economic recession.

g
C. % ¥} 4 - rising unemployment.
D. ] ™ *# - alower interest rate.
35. 4% P PRI FT R RR G ¢ ERP A RT ok o

An expansionary fiscal policy will less likely crowd out private investment if
A FARFTHIIF R &5 SR o private investment is very sensitive to the variation in interest rate
B. 1 &tk ,Thj’;‘ z_-k & o the economy is operating at its full potential.
C. b =% P 4c o the money supply is increased at the same time.
D. 2+ % & o All of the above.

36. T URIE A 2Tk B S g d MR RRITF kihf e Y
Which of the following is not one of the negative impacts to the developing countries brought by the
globalization and free trade?
A fih A R ARGk & 278 5 o More prone to the worldwide business cycle swings.
B. Rp @i ¥2 4 ¥ %% - Unemployment and recession of domestic traditional industries.
C. Mfde » >3 2 % € 4G 1I4F £ - The loss in social welfare due to lower tariff revenue.

D. B p 2R3k 8 3k - The deterioration of domestic natural environment.

10
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T MTRET i F L FRE?
Which of the following would cause the depreciation of ringgit?
A. & ka I;eni§ *k A& F o Deficit in Malaysia’s current account.
B. B ko Iy B 34174 % 34 % # ¥ - Bank Negara Malaysia raises the overnight policy rate.
C. "R ¥+~HFHFH kd I - Mass foreign investment into Malaysia.
D. 5 ka L ®P £ % ¢ 1%~ - Sale of U.S. Dollars from Malaysian corporations.

B.FA KT LTRTRFEEORD F T i7F » - 7 g i 2p5
When the Bank Negara Malaysia purchases government securities of RM 1 million from the bank through
open market operation,
A BIEFFT ARG A - 7 F - the bank’s total assets increase by RM 1 million.
B. b Wi adF 2 % o the money supply remains unchanged.
C. 7% & 24F 72 ¥ - the bank’s reserves remain unchanged.
D. 2} ¥ 2% - none of the above.

3.5 B ke TRFAFARFIMRT » BERPALFT_ fed_ o
When the Bank Negara Malaysia raises the discount rate, private investment will and consumption
will

A. T T o godown; go down.
B. ™" ; 34 o go down; go up.
C. B 4c 5 T o goup; godown.
D. 34 ; 5 4c o go up; go up.

40. 4% GNP % 600 £ £ > A L A H e 2 EFTE F e r 5 504 F > A B R HE x>

LHfer5 304 F7MAGDP 5 4 F e

If GNP is RM600, receipts of factor income from the rest of the world are RM50, and payments of factor

income to the rest of the world are RM30, then GDPis RM___ .

A. 520
B. 580
C. 620
D. 680

11



